LECTURE 16: General Solution to the Infinite <<m__ (adding time
dependence)

Goals of the 1-d lectures: learn how to solve Schrodinger's
equation for some simple problems

What I expect you to learn:
- How to solve the time depenedent
infinite well problem the free particle
wave-function

-Develop your understanding of how
quantum systems evolve with time

(Roughly corresponds to sections 3.5-4.5 of textbook)

Midterm: Wednesday Oct 25th at 11:00 IN CLASS
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We postulated that a measurement of the energy of the particle in
the infinite well would yield an energy eigenvalue and would leave the
wave function in an energy eigenstate (eigenfunction).

To answer the question: what is the probablility of measuring a given
energy eigenvalue (En) , I need to calculate the amplitude (An)
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THE INFINITE WELL (cont.)

For the rest of the lecture we'll Take a look at the solution to
our last infinite well example and visualise other infinite well
examples.

Here's some homework to improve your intuition: play with the
infinite well simulation at:
www.flastad.com/qm1d/

-take a look at various eigenstates and superpositions of eigenstates

-Use a superposition of 2 eigenstates. Does the system evolve more
quickly if the energy difference is greater?

-Measure the energy: what happens to the wave function?

-what happens when you change the particle’s mass

-what happens when you change the well's width

-can you observe wave function regeneration for a complicated
superposition of eigenstates

-efc.
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